A2

John than Peter.
Answer:

This car is than that one.
Answer:

She singer.
Answer:

I my friend.
Answer:

They in the park.
Answer:

He coffee.
Answer:

I her yesterday.

Answer:

She school by bus.
Answer:

We the movie last night.
Answer:

He to the library.

Answer:




Answers

John than Peter.

Answer: is younger

This car is than that one.

Answer: faster

She singer.
Answer: is a better

I my friend.
Answer: am taller than

They in the park.

Answer: are playing

He coffee.
Answer: doesn't like

I her yesterday.
Answer: met

She school by bus.

Answer: goes to

We the movie last night.

Answer: watched

He to the library.
Answer: went



